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Problem 1. Consider the expression arccos
(

cos(−4)
)

.

(1). Draw −4, cos(−4) and arccos
(

cos(−4)
)

in the same picture with the unit circle,

showing how they are interconnected.

Space for your solution:

(2). Use the above picture to express arccos
(

cos(−4)
)

without any trigonometric func-

tions.

Space for your solution:
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Problem 2. Solve the equation cos(2θ) = 1 + sin θ.

Space for your solution:

Problem 3. Solve the equation cot(t) = sin(t).

Space for your solution:
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Problem 4. In this problem, we will study cos
(

arctan(y)
)
.

(1). Suppose θ ∈ [0, π] and tan(θ) = −2. Draw −2, θ and cos(θ) in the unit circle.

Space for your solution:

(2). Using the above picture, find cos(θ).

Space for your solution:
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(3). Find cos
(

arctan(−2)
)
. More specifically, find an expression of this quantity that

does not use any trigonometric functions. Can the work done for the previous sub-problem
be used? To what extent?

Space for your solution:

(4). For an arbitrary real number y, find cos
(

arctan(y)
)
. More specifically, find an

expression of this quantity that does not use any trigonometric functions.

Space for your solution:
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